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bk
1 NO,0 ~ NO,0+24.0 24.0 1 0.35 1.9 0.3
2 NO,0+35.0 ~ NO,1+18.6 33.6 1 0.35 1.9 0.3
3 NO,1+29.8 ~ NO,2+31.5 51.7 1 0.35 1.9 0.3
4 NO,2+39.4 NO,3+37.5 481 2 0.71 1.9 0.3
5 NO,3+48.6 NO,5+32.6 84.0 4 1.26 1.7 0.3
6 NO,5+40.2 NO,6+27.8 37.6 2 0.63 1.7 0.3
279.0 11 3.66
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L=62cm
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(m) (m) (m2) (&) (H) 1 2 3 4 it
1 NO,0 ~ NO,1+20.9 71 3 213 48 7 48 48
2 NO,1+25.5 ~ NO,2+31.5 91 3 273 61 2 11 48 61
3 NO,2+34.9 ~ NO,3+37.5 99 3 297 66 6 5 2 11 48 66
4 NO,3+48.6 ~ NO,5+36.0 88 3 264 59 11 11 48 59
5 349 234 5 2 11 i 234
(#) miE(m2) F2(on) AR
J—X¥# 66 66%0.802= 53
HEER:E 5 5%4.5%1= 23 4 6 B
PACIE TS 2 2%x4.5%2= 18 2 12 B
3EEF 11 1%4.5%¥3= 149 9 24 H
AREZF 48  8%x4.5%4= 864 38 30 H



